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MATHEMATICS

Time: 2 hours

INSTRUCTIONS TO CANDIDATES (Please read these instructions carefully)

1.

You have been given this question booklet and a separate answer sheet. The question booklet contains 50 questions.

2. Do any necessary rough work in this booklet.
3. When youhave chosen your answer, mark itonthe ANSWER SHEET, not in this question booklet.
HOW TO USE THE ANSWER SHEET
4. Useonlyanordinary pencil.
5. Make sure that you have written on the answer sheet:
YOURINDEX NUMBER
YOURNAME
NAME OFYOUR SCHOOL
6. By drawing a dark line inside the correct numbered boxes mark your full Index Number (i.e. School Code Number and the
three-figure Candidate's Number) in the grid near the top of the answer sheet.
7. Do notmake any marks outside the boxes.
8. Keep the sheet as clean as possible and do not fold it.
9. For each of the questions 1-50 four answers are given. The answers are lettered A, B, C and D. In each case only ONE of the
four answers is correct. Choose the correct answer
10. On the answer sheet, show the correct answer by drawing a dark line inside the box in which the letter you have chosen is
written.
Example
In the Question Booklet.
35. The following are factors of sixteen. Which one is the odd one out?
A. 16
B. 1
€. 8
D 3
tA1 tB1tCr Do tA1r tB1tCr (Dr tA1 tB1tCr Dy tAr tB1:Cr o IEY tAr tBi «Cr tDs
On the answer sheet:
In the set of boxes numbered 35, the box with the letter D printed in it is marked
11. Yourdarkline MUST be within the box.
12. Foreach question ONLY ONE box is to be marked in each set of four boxes.
=
=
=

This question paper consists of 8 printed pages.
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What is the total value of digit ¢ in the
number 3649517

3. 0000

C. 60.000 . Ten thousand

S‘.

A. 412876 B. 59386

C. 51232 D. 46393

What is the product of the squares of 8 and
A. 100 B. 1104

C. 384 D. 2304

The area of a square is 2704cm?. Find the
measure of one side of the square.

A 52 B. 42

C. 51 D. 48

Find the sum of the L.C.M of 8, 12 and 36
and the G.C.D of 48, 54 and 18

A. T2 B. 78

C.18 D. 76

A factory produced 30496 bags of cement
on Monday, 18469 on Tuesday, 27469 on
Wednesday and 21338 on Thursday. If
40860 bags of cement were sold, how many
bags of cement remained?

A. 97772 B. 138632

C. 59612 D. 56912

What is the value of 748673 rounded off to

the nearest thousand?
A. 748000 B. 750000
C. 749000 D. 748700

Find the value of ¥/, - (/,of /) + '/, =
A P ‘B. “/

C’ 97/320 D 67/120
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mass of an empty bag is 250g. Su
bought 15 bags of beans. What was th
mass of beans bought in kilograms?

A. 1627.2kg B. 1352.25kz
C. 1359.75kgs D. 5106kg

Which among the numbers have been
written in descending order?

A, 56%, 0.64 B. 0.64, 56%, ¥/

C. %, 0.64,56%  D.56%, 0.64, %,

Find the perimeter of the figure below
(Take © =%/)

™ ,/f - \A\
] \§ {
Tl ik formmananned
2lm /  2lm |
1
S %;_;Sm
E
) |
63m
A.225m B. 204m
C.222m D. 258m

Muli bought 8 chairs at Sh. 240 each. He
later sold them all at Sh. 1000 more than
the buying price. What was the profit for
each chair?
A. Sh. 365
C. Sh. 125

B. Sh. 225
D. Sh. 135

A school board meeting started at 8:25 a.m
and ended at 1730hrs. How long did the
meeting take?
A. 9 hours

B. 8 hours

C. 9 hours .
D. 10 hours

15 minutes
05 minutes
05 minutes
05 minutes
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Simplify the expressions:

2(3x + 4y) + 3(5x - oy)

A.21x - 10y B. 18x + 33y
C. 21x + 6y D. 21x + 30y

Asha can weave 2Y,am of rope for every
one hour, How many metres will she weave
n 4/ hrs?

13
A% m B. 9Y.m
) 1/ 2 . ‘
Co9Y m D. oY, m
Work out:  |196

\ 376

13 14
A ‘24 B. ‘/24
14y /
C. Y, D. By,

What is the next number in the sequence?

16, 21, 28, 37, 48,
A. 85 B. 61
C. 59 D. 63

Work out: 48693 - 21304 + 69361 =
A. 97650 B. 96705
C. 96750 -D. 97750

Moyes scored 7/, in a Mathematics quiz.
What percentage mark was this?

A. 28% B. 70%

C. 34% D. 68%

Draw triangle ABC in which line AB = 6cm,
angle BAC =90 and AC = 8cm. Find the
measure of line BC
A. 12cm
C. 15cm

B. 7cm
D. 10em

Julia earns a basic salary of Sh. 4800 per
month. If she save 40%, how much does
she spend? )

A. Sh. 1920 B. Sh. 2080
C. Sh. 2880 D. Sh. 2680
Work out:

L Mi

42 563

X
A.383L  167ml B.378L  067ml
C.383L  670ml D.383L 067ml

14.

]
A

The circumference of the circle below is
[.54¢m. Find its radius 7

fg,;‘ % E
{
L e ;
pr— p— J
\ /
\ /
b ﬂff
AL 0.245em 3. 0.1dem

C. 0.28cm D. 6.254cm
Sharon bought the following items from a
shop’

2kg beans @ Sh. 120.00

2 Y kg sugar @ Sh. 80.00

kg bar of soap @ Sh. 110.00

1/ kg rice (@ Sh.60.00
[fshe paid using Sh. 1000, how much should
she give the shopkeeper to obtain 2 - two
hundred shillings notes?
A. Sh. 60 B. Sh. 40
C. Sh. 360 D. Sh. 70

Sulei’s farm measures 240m by 132m. Find
its area in hectares.

240m

132m

B. 0.3168m?

A. 31.68m?
3, D. 31680m?

C. 3.168m?

Which statement is true about the figure
below?

e
g /;:/\‘\\

N

A a+d=180°
B.d+f=180°
C.e+f+d+g=3500
D.e+b+d= 800
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Find the volume o the cuboid helow
w(uﬁn
] . 1 ,
- [2em
P Rem

A 2% vepy
\ U(w\»hﬂg B. 3d4350em
44 S560em 1. 34650m?
Tovky AN e b e A £
,a!;c:s O \ rea03Kkm and realised that he
used ROUTS 1o cover he distance. What
SPeca was he travelling ar?
i fw‘imw. h B 120km/h
C.P8km b D, 84km/h
N \T!\‘,.\ 1o X 8 7/ A == S
\. G4 C B 12
5 D.o
What is the reciprocal of 1042
A :,‘Fr' 4
\. 4 B. /4
G ¥ - D, 4‘/“}
‘Thé_ table below shows the number of
accidents which occured in the first six
months of the vear.

Month - No. of accidents

lanuar 120

February 180

March 210

April 170

May 140

June 200

By

In which two consecutive months did the

highest number of accidents occur?
A - February. March B, March, April
€ January, February D, May, June

Yepo bought a video machine for Sh, 2,890
and later sold it for Sh. 3,375, How much
was the profit”
A. Sh. 395
C. Sh, 485

B. Sh. 460
D. Sh. 435

33.

34,

35,

37.

38.

40.

What is 765600c¢m° converted into m-*?
A 0.7656m" B. 76.56m°
., 007656m’ D. 7.656cm?

Salt weighing 8.4 tonnes was repacked into
60g packets. How many packets were
obtained?
A. 140000
1400 D)

B. 1406000

14000

The following information represents the
number of children vaccinated in a certanr
hospital against Polio in a week.

Monday =210, Tuesday -300, Wednesda,
160, Thursday- 230, Friday -282
Saturday- 194 and Sunday -291,

What was the mean weekly attendance”

v

A 210 B. 238
€. 311 D. 187

Which among the set comprises of two od:
numbers and two prime numbers?

A. 5,12, 13, 19 B. 15,27, 43. 47
C. 15, 21, 37, 49 D. 51,353,912

A path 8.4m long was drawn to the scalz o
lem to represent 4m. What was drawing
length? .

A. 2. lem B.22cm
C.2lem D. 2.4en

e

Find the sum of faces, edges and verrice.
of the open cuboid below:

=]

e |

- §
A 26 B. 21
C. 25 D. 24

Which statement is true?

A 0.7 > 0.67 B, 1.42 =12
N _ ) L, 1000
C, "/8 3’/4 D. 80% - %,

The sum of two numbers is 148938, One of
the numbers is 106421 Find the other
number.

AL 45217
42175

B. 42517
D. 420517
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44,

45,
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Work out:

N 4300

. i
,%_fﬁkg 010g H‘iﬂkg 010¢
Co3%g 3l0g D S8kg  010g

\ class has 48 pupils, If Y are girls, how

present ina day when 3 of
come to school?

B.1I8

D. 2]

many bovs were
them failed to

Al le

.13

What s ¢
divisibi
A 180
240

he smallest number which ig
¢ by 20 and 36 without a remainder?
B. 360
D. 720

Which among the foll

_ owing figures is a
scalene triangle?

N
‘\\\ /
o /7 \
6931*:’-3;é €cm IZCm,/ \]2cm
| \
A, fom B, Jem
\
7 em \K4cm ke i
/ \
4 A
4 X
Sem 6cm
C D.
Work cut:
Hrs Mins
18 24
-7 53
A. 10 hours 31 minutes
B. 11 hours 31 minutes
C. 11 hours 29 minutes
D. 11 hours 30 minutes

How many packets of biscuits measuring
8cm by 6em by 4em can be packed in a
carton measuring 32cm by 18cm by 12e¢m?
A. 24 B. 36
48 D. 72

47. Faith bought 30 mangoes. She later founq
that '/, of them were rotten. Wy,
percentage of the oranges were good?
A 64% B. 75%

. 72% 12. 80%

48, What is 48 written in Roman numerals”
A XIVIII B. XLVIII
XLV 1. XTLVII

49. Change 72km/h to m/s
A. 20m/s B. 25m/s
C. 36m/s D. 24m/s

50. The graph below shows the temperature rjs-
of a liquid boiled over a period of time.
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How many degrees
30 minutes?

A. 5°C

C. 35°%C

were registered after

B. 45°C
D. 47°C
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